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Quadratic equation in one variable

1. Multiple Choice Question (MCQ) If one root
of az? + bx + ¢ = Obedoub < theother, then

b"2" =


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6T9nVXBNscqS

A. 9ac

B. 9/2ac

C.9/4ac

D. 3ac.

Answer:

° Watch Video Solution

2. The roots of the equation

,—b:l:\/gz—élac

ar’ —br +c=0are..1l.z =
2a

2x="(b pm sqrtb”2 - 4ac)/(2a)’


https://dl.doubtnut.com/l/_6T9nVXBNscqS
https://dl.doubtnut.com/l/_X4FpkiyJNljw

A.1x = (-b pm sqrtb”2 - 4ac)/(2a)’

B.2x = (b pm sqrtb”2 - 4ac)/(2a)

C.3.(-b pm sqrtb”2 - 4ac)/(a)

D. 4. (b pm sqrtb”2 - 4ac)/(a)

Answer:

° Watch Video Solution

3. If the roots of

2> — (2p+ 1)z + (2p — 1) = 0 are equal in


https://dl.doubtnut.com/l/_X4FpkiyJNljw
https://dl.doubtnut.com/l/_pxwL5PCLvFhU

magnitude but opposite in sign, then the value

of P will be

B.2

C.1/2

D.-1/2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_pxwL5PCLvFhU

4.1f the two roots of the equation ‘ax"2 + bx +

c = 0' are distinct and real then ¢

Ab —4dac=0

B.b2 — 4ac < 0

C.b°> —4dac > 0

D.b%> — ac > 0.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_rX4ww5ZLOHKe

5. The value of k for which the roots of the
equation 2z* + kxz + k — 3 = 0 are reciprocal

to each other is

A5

D. 2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fkkLZVt1LHpL

6. If one root of px? — 3z — 5 = 0 is 5/2, then

the value of p is

C.2

D.5

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_COKnagCpGVN6

7. If one root of the equation z? — az + b = 0

1 1
be a and 3, then the value of — + — is

a p
A.b/a
B.-a/b
C.a/b

D.-b/a.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_YN5bN8YHZO3J

8. If the equation (x - 2) (x + 4) + 9 = 0 be
expressed in the from
az® + bz + ¢ = 0(a # 0) then the value of b

is

C.0O

D. 2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_GNh1umrXb4ah

9. The equation 2z°® —5z*+3=0 is a

quadratic with respect to

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GNh1umrXb4ah
https://dl.doubtnut.com/l/_Dym0m3FDscUe

10. If the equation (4p + 2)> — p(p — 1) = O is
expressed in the from

ap® + bp + ¢ = 0(a # 0) then the value of a is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Rl89wEK7OTgF

1. If the equations z°+ 2z +3 =0 and

az’ + bx + + ¢ = 0 have common root, then

B.3:2:1
C.1:3:2

D.3:1:2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_g3G2VLQy2pRQ

12. Let a(b — ¢)z* + b(c — a)z + c(a — b) = 0

has two equal roots. The true relation is

A.1/a+1/b=2/c
B.1/a+1/c=2/b
C.1/b+1/c=2/a

D. N.O.T.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RQ2aVOAkynxC

13. The roots of the equation ‘ax"2 -bx +c=0
are

A.b® — dac > 0

B.b" — dac = 0

C.b* —4dac > 0

D.b2 — 4ac < 0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CsHxuLh6HM4v

14. Sum of two roots of 2z + ax + 6 = 0 is 5.

Then the value of a is

A.-10

B.10

C.5/2

D.-5/2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_6iOGxDoGrSSw

15. Two roots of 4z? — pz + 9 = 0 are equal.

Then P equals

A.only 12
B. only -12

C.£12

D. 144

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0K373gyUSvX8

16. Two roots of 5z + 7z + 3 = 0 are a and .

The value of is

A.125/12

B. 12/125

C. 282/125

D. - 282/125

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xtKAz5BjbI1T
https://dl.doubtnut.com/l/_5Ielap3sAC6d

17. Which among the following is a quadratic
equation?

A(2c+1) =42® + 4 + 1

B. (v3z +1)° = 32 + 10

C.10z° + 2z% = 5:1;(\/5.’13 + 1)2

D.3z% — 2z + 10 = 5z°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Ielap3sAC6d

18. The sum of two roots of 2 — px + ¢ = O'is
thrice of their difference. Then which is the

correct relation

A. 9p* = 2¢
B.2p"2 =9q
C.2p"2 +q =0'

D.9p” 4+ 2¢ =0

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_154mWiyliQYY

19. o, be the roots of x(x -3) =4. Then

(a2 + 52) equals

Al
B.7
C.25

D. 17

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OKFWFYp0CVI7

20. Two roots of z° — (a +b)z +ab=0(a, b
are rational) are

A. not real

B. real and rational

C.real & irrational

D. cannot be determined

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ySUIU5Vmk1Sb

21.If p and q are the two roots of the equation

z? 4+ pr + q = 0, then find the value of p

A1l,2
B.2,3
C.4,0

D.1,0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gqv2DDwO5Dff

22. Solve for x : x/x+1 + x+1/x = 34/15

A.2/7,-5/2

B.3/2,-7/2

C.9,4

D.4,7

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WJQfweCem7j3

23. The hypotenuse of a right angled triangle is
6 cm more than twice the shortest side. If the
third side is 2 cm less than the hypotenuse.

Find the sides of the triangle

A. 10, 24, 26

B.4,6,8

C.3,4,5

D.5,12,13

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_CuaT2LjgJzAO

24. A moter boat whose speed is 18 km/hr in
still water takes 1 hour more to go 24 km
upstream than to return down stream to same

spot. Find the speed of steam

A. 4 km/h

B.5 km/h

C.6 km/h

D. 8 km/h

Answer:


https://dl.doubtnut.com/l/_CuaT2LjgJzAO
https://dl.doubtnut.com/l/_SJYbs8QTWmjR

° Watch Video Solution

25. Find two consecutive numbers whose

squares have the sum 85

A. 6,9

B.6,7

C.6,8

D.N.O.T

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_SJYbs8QTWmjR
https://dl.doubtnut.com/l/_PCLLja1Z3p6t

26. Solve for z: 1/3z% — 24/2z — 2,/3 =0

A /6, — ?

B. /3,2

C.’sqrt7,sqrt7/2

D./6, /3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PCLLja1Z3p6t
https://dl.doubtnut.com/l/_0MMx7jXIeqF3
https://dl.doubtnut.com/l/_CStOxwcRG5Nj

27.Solve for z: 2 + r_ 1=0

2
—1+4/19
A.
4
—1+415
B.
2
—144/17
C.
2
—14+4/17
D.
4
Answer:

o Watch Video Solution

28.Solve for Z: 3622 — 12cz + (c2



https://dl.doubtnut.com/l/_CStOxwcRG5Nj
https://dl.doubtnut.com/l/_xyUOenPmCwgY

Answer:

° Watch Video Solution

29.If:c:\/1—|—\/1—|—\/1—|— ....... . Then

x is equal to


https://dl.doubtnut.com/l/_xyUOenPmCwgY
https://dl.doubtnut.com/l/_TwxFyGrujTS7

1++/5
1—+/5

1 5
c 1tv5

D. N.O.T.

Answer:

o Watch Video Solution

30. 300 marbels are distributed equally among
a certain number of students. Had there been

10 more students, each would have received


https://dl.doubtnut.com/l/_TwxFyGrujTS7
https://dl.doubtnut.com/l/_Pt9mQ4Hm6BG7

one marbel less. Find

students

A. 40

B. 50

C.60

D.70

Answer:

the

number

of

° Watch Video Solution



https://dl.doubtnut.com/l/_Pt9mQ4Hm6BG7

